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Question Number : 1 Question Id : 3354727431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ehimbetka caves are famous for its_____ ) e e ____ 3 T g B
Options:

1. % Sculptures | giaar

2. ® Tiger parks | TTETX OTHT

=, ¥ Rock paintings | &7 &=t

4, % Temples | AfT!

Question Number : 2 Question Id : 3354727432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
“The Lakshrri Eai National Institute of Physical Education” is located in which district of Madhva Pradesh? |

ey v o T e O AsTiETs Jeea secies AT (U e e e 27
Options:
1. % Rewma | T@T

2 % Gumlior | @Y
2. ® Indore [ 2T
4. % Satna | aaqr

Question Number : 3 Question Id : 3354727433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Atomic Energy Comrnission is responsible for formulating the policy for the atomic energy activities in the

country. When was it set up? | UCHAT] F1 AT T4 § W] T nidfa et gg Aifd niduiey & % oy ot 8 o8
) Teram T o

Options:
1. % 1960

2. % 1956
3% 1951
4. ¥ 1948

Question Number : 4 Question Id : 3354727434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Eeri-beri is caused due to the lack of which one of the following substances? | FaieEs & & Treg uaref & AT &
HIEIT -2 GIT 27

Options:

1. % Vitamin E1 | Eem= &t 1
2. % Protein | W

% % Vitamin C | et
4. % Fats [ o4

Question Number : 5 Question Id : 3354727435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
When was the '4ll India Muslim League' founded? | ST A GIEEH w1 ST e 52 off?

Options:
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1. % 1902
2. ¥ 1908
3. % 1911
4 % 1919

Question Number : 6 Question Id : 3354727436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘International Tiger Day’ is celebrated on _____________ of every year. | 'afaxig i e T wadwad_________ Cal
AT AT 21

Options:

1. ¢ 25th July | 29 F#5
2, % 1zth May | 1278
3. % 23rd July | 23 F91%
4. % 15th May [ 15 7%

Question Number : 7 Question Id : 3354727437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who promulgates ordinance in states? | T=41 § AT F19 A1 #7327

Options:
1. ¥ Governor | T=49Te
2. ® Chief Minister | TEIwEA!

% % President | TTEdf
4 % Chief Justice | §&T -t

Question Number : 8 Question Id : 3354727438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
India and China were locked in a meniths-long military standoff in this Himalayan region. Marmne the region. |

T TSR 83 # U Ag i o el AT T Ged Mg e § AT 31 =i = 9 8 3T A0 a9
Options:

1. ® shangri-la | #d-aT

2. % Daulat Beg Oldie | SIAT &7 AAST

= ¥ Doklam | S1Fd

4. % Ladakh | @gg

Question Number : 9 Question Id : 3354727439 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which one of the following articles was called as the ‘heart and soul of the Constitution” by Dr. ER.
Ambedkar? | =1 &1 AT, aéwmﬁ'ﬂﬁﬁﬁﬁﬁﬂﬁ?m et Al T T o ITeHT FEaaT a7

Options:

1. ¥ Article 32 | arfedg 32

2 % Article 19 | arfedg 19
3. % Article 350 | argedg 350
4 % Article 363 | sTgedg 363
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Question Number : 10 Question Id : 3354727440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who is the founder of Tata group of cormpanies? | TTET T FUA! & HEITUE D1 o7

Options:

1. ¢ Jarnsetji Nusserwanji Tata | FHIET JH R ST
o % ] R.D Tata | 5 oX 21 T

3. ® Ratan Tata | W@ 7T

4. ® Dorabiji Tata | SRTE=T 22T

Question Number : 11 Question Id : 3354727441 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which one of the following dance forms is Rulkmmini Devi Arundale associated with? | a7 # 9§ &5 9 7970 Seft
SR ZelT SE2e H Helldd 27

Options:
1. % Bharatnatyar | Sa-ey

2 % Kuchipudi | FRYST

3. ® Kathak | &%
4 % Kathakali | Tl

Question Number : 12 Question Id : 3354727442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The largest desert in India isin ______ .| IRT H Wew FET LTe T He

Options:
1. ® Uttar Pradesh | 3qa¢ w5

2. % Eihar | Tgw
3. ¥ Rajasthan | e
4 % Madhya Pradesh | T 0

Question Number : 13 Question Id : 3354727443 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Very hig%1 grade Iron Ore is found in the districtsof ___________ | TR 3] A0 T Ay e, & et #
T =741

Options:
1. % Morena and Rewa | G 3T Tf@m

2 % Ratlam and Dhar | T3 T 4%
3. ¢ Durg and Bastar | g &% aqav
4 % Ujjain and Kalumar | 3591 o AR

Question Number : 14 Question Id : 3354727444 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Mobel Laureate Kailash Satyarthi was bhorr in

Options:
1. % Vidisha | =i

2. % Shahdol [ A
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2. % Mandla | 52T
4 % Indore | 22X

Question Number : 15 Question Id : 3354727445 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Where _%1?5 the temnple of Mangalnath, which is dedicated to the planet Mars? | AT T AT TET 5, AT AA U5 &

Options:

1. % Ujjain | 3=

2. % Maheshwar | Agsat

3. % Ormkareshwar | STTHFESET

4 ® Datia | =rd=r

Question Number : 16 Question Id : 3354727446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhere is the samadhi of Maharaj Chhatrasal situated? | AZE TI9TA $1 THITE F5T #IT 57

Options:

1. % Mahowa | HgET
2. % Orchha | amiRaT
= % Raisen | TEEE
4 ¥ Dhubela | &am

Question Number : 17 Question Id : 3354727447 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which ternple was renovated by Colonel Martin? | @ HTie T &R e BT ®T g e mar a7

Options:

1. % Eaijnath Mahadev temple | S0 AEd Higt
2. % Ram temple | TH ARG

3. % Chintaman Ganesha termple | W07 707 AT
4. % Rani Sati Dadi termple | THT @41 25 AT

Question Number : 18 Question Id : 3354727448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Identify the name of the cormmunity that got the minority status in 2014: | 2014 ¥ 50 A T AeTEETE BT o1
THFT, THET A0 FdT

Options:

1. ® Parsis | Uwdr

o ® Sikhs | W
2. ¥ Jains | A9
4 # Buddhists | T

Question Number : 19 Question Id : 3354727449 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The first Indian fernale wrestler to win a medal at Olympics is
I LG B— H
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Options:
1. % Sakshi Malik | @78t AT
2 % EBabita Kurnari | Si=dT g
Z. % Vinesh Phogat | TR wme
4, % Geetha Phogat | AT BiTE

Question Number : 20 Question Id : 3354727450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

According to 20;?111 census, Madhva Pradesh had a literacy rate of ______ |} 2011 & FEI0ET % SgER, Teauga &
HqTEaT e ______

Options:

1. % 93.5%
2 ¥ 70E%
I % 45 3%

4. % 53.9%

eneral Maths and General Aptitude

Section Id : 335472234

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section | d: 335472234
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354727451 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Pipe 4 can fill a tank in 4 hours whereas pipe B can ermpty it in 6 hours. If both the pipes are opened together,
ther the nurmber of hours needed for the tank to be filled is____. | UET A UF Tl FT 4 ©ET # 9 GAdT § el UET B
I E Tl H e B qFAT 21 Tl ST UI2U] F Ty BIAT A1aT 5, a1 2T @1 9 o ol HTaere gef & 9&ar____3

Options:
1. ¥ shours | 5%

2 % Shours | 9T
2 % 10hours [ 10T
4 ¥ 12 hours | 12 @

Question Number : 22 Question Id : 3354727452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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If 63 — 24® — 5x + 6 is divided by x = 2, then the remainder is: /T8 6x° - 24° —Sx+ 690 x+
2 & @wfsa fear JaT §, o duwa g

Options:

1. % -22

2 ® -18

= v 186

4. % 2z

Question Number : 23 Question Id : 3354727453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
*.-"E % 20 =7
Options:

;-.IE
1. % &

Question Number : 24 Question Id : 3354727454 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
2 =18 =7

Options:
1. % 35
o Vg
3 % 20
4 % 7

Question Number : 25 Question Id : 3354727455 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What is the square root of 4417 | 441 %7 9Tigs 47 27

Options:
1. % 11
e 3|
3 0% 41
4 % 29
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Question Number : 26 Question Id : 3354727456 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Find the average. | sf|g e
15, &9, =23, 36, 22

Options:
1. ¥ 35

= ® 35
o ® g7
4 ® 37

Question Number : 27 Question Id : 3354727457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The number 83216.3 in the standard form is written as 8.32165 x 10" where nis: | &

83216.5 &1 Aldd &7 H 832165 x10"% &9 & for@r oar €, <81 n &
Options:
1. % 3
2 ¥ 4
3 % g
4 % g

Question Number : 28 Question Id : 3354727458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If ZA=20° and ZAFG= ZAGF, then /B+ /D emalsto ___/TE ZA=2003T ZAFG=
ZAGE &, ZB+ /D & W B

=

Options:

=
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Question Number : 29 Question Id : 3354727459 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The average of 26, 76, 126, 176, 226, 276, 326, and 376 is
T AT a

2B, 7B 126, 176, 226, 276, 526, AT 375

Options:

1. % 178
= ¥ 201
3. % 226
4 % 211

Question Number : 30 Question Id : 3354727460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The number of digits in the product 47x 504s /4°x SIDHIUTW H 3l & gE&ar

-
Options:
1. % 10
= W11
3. % 12
4 % g

Question Number : 31 Question Id : 3354727461 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A man went from A to B at 50 kmjh and came back at 100 kmfh. What is the average szgreed for the entire
journey? | U ehih A € B T SO TR weT & TR &K 100 TRt e § S0 i STem @yt arET @ st T T a7

Options:

1. ® 7S km/h | 75 ot weT

2. % 3333 km/h [ 33.33 T ERT
3. ¥ 66.66 km/h | 66.66 TFdT TeT

4. % None of the above | I § & #1251

Question Number : 32 Question Id : 3354727462 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Iria group of 10 bovs, 2 of therm are all-rounders. What is the pI‘I:Ztl‘I:Z:lEl’I:Zruilit‘}.F that a boy selected at randorm turns

out to be an all-rounder? [ 10 FZ®! & U G §, ITH F 2 ST6l-TTST 51 ST FAT WIERAT 5 19 Ag=o® &0 3 4 i-d
A=®HT UF T —TTI= T8g 5T

Options:
1. %5
2 V¥ 0z
3. % 025
4 % 05

Question Number : 33 Question Id : 3354727463 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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In the figure, strips 1, 2 and 3 have the same horizontal width “a’ units. These strips connect two

parallel lines. Which strip has the largest area? / ™ #1. 2 X 3 ufzal & 9A7E 8o iz
‘a’ SHTS B I uftai & THiaR W@ & Asdr € e o & dwd Ted Hfe #2

a a a

| // > 3
/
Options:

1. ¢ All three strips have the same area. | T F147 o=t &7 G0 875 51
2. % Strip 1 only | A a1
3. % Strip 2 only | FEA TSI 2
4 % Strip 3 only | FAA UET 3

Question Number : 34 Question Id : 3354727464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If 20% of a number is 200, then the number is; | i UF &7 #T 30%, 200 §, T 95 &7 5,

Options:
1. % 900
2 %10
3 % 100
4. ¥ 1000

Question Number : 35 Question Id : 3354727465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The age of Sushil & vears zgo was three times the zz2 of Snehal Six yemrs hence, the age of Sushil would
beé times that of Snehal What is the present age of Snehal?/ 6 @¥ 9gol HATe T Y FAga &

HIT & 1 A M| 6 99 @, W FT AT TEE H - A gE| Bed § 95T AT

7 7
Options:
1. % 14 vears [ 14 a9
o % 22 vyears | 2299
. % 18vears | 1899
4 ¥ 12 vears | 1299

Question Number : 36 Question Id : 3354727466 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The population of a city is 15,000,000 If it increases by 10% during the first yvear, decreases by 20% in the

second year and increases by 30% 1 the thix;?_lmgrear, then the population after 3 vears is: | & 5T &1 A&
15,00,000 g1 I 95 Werd o o S 10% 9 &% 2 A 20 TarAET s iR g ad # 30% &g AT &5, a1 3
oY AT STaET BT
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Options:
1.9 17,165,000
2. % 17,50,000
3. % 15,50,000
4. % 16,00,000

Question Number : 37 Question Id : 3354727467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

12x+36 mequal o [/ x212x+36, F T

Options:

632
. (x-6)

o R G
S B (-0
4 8 -12x-3)

Question Number : 38 Question Id : 3354727468 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The roots of the equation 6(x™+1) = 13x are: /FeEw 6(x1+1) =13 % F7 &

Options:
1. %23

[

]

| =

Lad | 2
[ W

g4

Question Number : 39 Question Id : 3354727469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If SE7BATE is divisible by 36, then A is__. | G SE7SATE, 6 T AMmTEaTA ____ 8

Options:
1. %0
o % g
3. ¥ 5
4 ¥ g
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Question Number : 40 Question Id : 3354727470 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
44 + 444 + 4444 + 44444 =7

Options:
1. # 42478
= ® 48756

3% 49376
4 % MNone of these | 598 T &1 95

Cereral Hindi

Section Id : 335472235

Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472235
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354727471 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

[Ereoie S TR ol UE fera, o7 Tagir fEvar @1 Ioamems 2

Options:

1. % wrsr
2 o TEiET
3 % Hegd
4 % gt

Question Number : 42 Question Id : 3354727472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T B

Options:

1. g

2 ® gy

3 % TEFwr

4 % Tamem

Question Number : 43 Question Id : 3354727473 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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B0 e w1 SRfE -

Options:

1. % gar

= o T Ot

3. % g

4, % gwmoq

Question Number : 44 Question Id : 3354727474 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
e e e R ) e e e | R R G L KL R T T R - HEATT Bl

Options:

1. % aEgg
2 ¢ T
z % g
4. % g

Question Number : 45 Question Id : 3354727475 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

EL R e ) et e ) e e e c g e ) = - T ) BT
Options:

1% 4

2 vy

3 8T

4 %3

Question Number : 46 Question Id : 3354727476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘g0 T qaiarE! g § e e

Options:

1. % gaq
= ® U
3 ¥ gaa
4. * gpT

Question Number : 47 Question Id : 3354727477 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T AT ST ET o 6 UF e, g # F #7857
Options:

1. % 99

2 qamg®

3. % T

4 % E

Question Number : 48 Question Id : 3354727478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0
MR T Are foedg Mg d & R A g7
Options:
1. % Th+amm
2 ¥ e
3 ® matar
4 ® T+ ST

Question Number : 49 Question Id : 3354727479 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘T &7 A Jeg FH A F T ATE?

Options:

1. % qurg
2 ® fum
3 % o
4 % T

Question Number : 50 Question Id : 3354727480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A IUAT H T eg g H H E@ I 57
Options:

1. % 9T

2. ¥ g

3 % wEw

4 % gy

Question Number : 51 Question Id : 3354727481 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
-3 Seg H P # & @09 A7 GATT 57

Options:

1. % Foqey qa

= ¥ oE HEd

3. % FHuwg A
4. % ity gug

Question Number : 52 Question Id : 3354727482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T UEAT erek @7 o Py A A et A gy

Options:

1. ® gt e
2. & IR H AT
3. % TR OEAr
4. ® T ST
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Question Number : 53 Question Id : 3354727483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“OHROET T G & 49 H & B |57

Options:

1. % orfeaat
2 % giedr
3. gl
4 % gioe

Question Number : 54 Question Id : 3354727484 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AT T T ST AT 50 § - AT 87

Options:
1. % gead
2 % o
3 %
4 % @

Question Number : 55 Question Id : 3354727485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

HTCT <= AT & T Amer sy & 2l
T BT & AT T AT & R ' Al
H I AT w51 T51 fwedg gid?

Options:

1. ¢ TaF SAaw
2. ® dHe aEEw
3. % U SIEET
4. ¥ AT TFAET

Question Number : 56 Question Id : 3354727486 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TemT T sree T e T i 9 g - araEr

Options:

1. % Ty & @l SIAE 51 0T A1iem

2. % IO FHa, STgaTied U a1 Toue FT e § AT A
3. ¥ @it ot F7 ff Srae 1 g AT aTiEm

4 % ot oF o731 % §oF W1 ST FT TAEAT 51

Question Number : 57 Question Id : 3354727487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Options:
1. % Uz @t e

= & S AT
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2. ® orT T e
4 % gl amT

Question Number : 58 Question Id : 3354727488 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T i AT T A T, e o] S U I g aaTsy
Options:

1. % goidt

2. ¥ aEviHE

3. % argavidr

4 % g

Question Number : 59 Question Id : 3354727489 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ST e T I AR & -

Options:

1. % iy
2. % gur

3. ¥ -
4 % i

Question Number : 60 Question Id : 3354727490 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

iiegee @1 aHTE-Teuy ST
Options:

1. % g

2. % TF B UFE A

3. ® T @ FIE amEr

4, TIRE BT T arem

Fural Econormy and Panchayati Raj

Section Id : 335472236

Section Number : 4

Section type: Online
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Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
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Question Shuffling Allowed : Yes

10th Dec 17 Shift 2



10th Dec 17 Shift 2

Question Number : 61 Question Id : 3354727491 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which scherne is renamed as National Rural Livelihood Mission? | T JTHT &7 10 SEa@ A9-60 S0 wearige
TEraTT (FTETT TITEOT SrreteRT ) T e 87

Options:

1. # Integrated Rural Development Programme | S¢iies #d aaaTHe T

2. % National Rural Employrment Prograrmme | =36 & THyAaHe I

3. ¥ Swarnajayanti Grameen Swarczagar Yojana | T Aga T TTH T T AT T

4. % Rashtriya Gram Vikas Yojana | TYery TH Eem T=ET

Question Number : 62 Question Id : 3354727492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhat is the primary function of Kisan Mitra in Madhya Pradesh? | 7 n2ar # T T8 &7 qreriier & oram 27

Options:

1. % To work as agricultural labourer | T A0 & &0 H &1 Fe-1

2. % To guard the fields of the farmer | e & ST & qeyT T

= ¢ To spread information regarding government schermes | STEEH F-T3T & a1 H AT TETed #ear

4. % To carry farmer's produce to market | TFTET & Je0T2] T ST T8 o AT

Question Number : 63 Question Id : 3354727493 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the name of the emporium selling Madhvya Pradesh handicrafts products all over India? | 73 w2
FEA 1w euTE] o O AR § Taeht 3 oot ooy g 7 7 m AT/ 27

Options:

1. ® Shabari | =it

= ® Narmada | 9827

3. ¥ Mrignavani | AT
4. % Kaveri | ®el

Question Number : 64 Question Id : 3354727494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ifgr%h;% year was Swarnjayvanthi Gram Swarczgar Yojana launched? | Fa0 JdT TTH T T AT Tofe o e

Options:
1. % 2011

2. % 2007
3. % 2003
4. ¥ 1999

Question Number : 65 Question Id : 3354727495 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is NOT a pur]%gse for which an Agriculture Investrment Loan is granted to a farmer? |

e # & 9 a7 w91 & e o U i e Fo O T & T e 8
Options:
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1. ¥ Buying seeds | a1 &1 @Ig

2. % Irrigation | =

% % Buying agricultural machinery | Y Ao & @0
4 % Land Developrnent | 4ff dwm

Question Number : 66 Question Id : 3354727496 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

what is the masxirmum age of a girl eligible for opening account in Sukanya Sarmriddhi Yojana? | Wﬂi{ﬁ

Options:

1. % 7wears | 7 a9
2, % Svyears | a0
3 % 9years | 9av
4, % 10 vears | 10 a9

Question Number : 67 Question Id : 3354727497 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the fOIIIO'-.-'-.?ng States was ElWElI‘CIiEd for canstructing highESt road length in 2016-17 under PMGSY? |
& ST 2016-17 H AaiTE® Aele 16t Gedh a1 o o] Faerad B 6 B T &1 R 1o T2 2017

Options:

1. ® Gujarat and Assarn | 90T Ud 368

2. % Eihar and Madhya Pradesh | TE% U Aear wdar

Z. % Maharashtra and Goa | AgRWE U4 TET

4. % Himachal Pradesh and West Bengal | TeHT=e Haar U GFEcm =TT

Question Number : 68 Question Id : 3354727498 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Madhva Pradesh Ceiling on Agricultural Holdings Act was enacted in _____ .| T mE H UM S eaid Bliea
ey W SgaA AT H _____ # Te=rT TIIT 2

Options:

1. % 1940
2 % 1950
3 ¥ 1960

4 # 1970

Question Number : 69 Question Id : 3354727499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which is the main objective or motto of the Panchayat Raj systern? | T=Tad T cdeeaT &1 §&d #53 T g 47 27

Options:

1. ¥ Econormic Power | S o

2. % Decentralized Democracy | Tddied Addd
z ® Administrative Education | HImE-er e
4. % Rural Development | THIT &
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Question Number : 70 Question Id : 3354727500 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhere is Indian Institute of Soil Sciences located in Madhya Fradesh? | Ted near # Si2e Seeieyy ATH Higel deti
(T 1 g o e w7 e 87

Options:

1. % Bhopal | \iTe

2 % Gumalior | T
2. ® Indore | 22X

4. % Jabalpur | S&Edq?

Question Number : 71 Question Id : 3354727501 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
where in Madhya Pradesh is Central Institute of Agricultural Engineering located? | Hed Waq # Hd SEISE AlH
BT T T (e 1T ST AT T ) 5T 77

Options:

1. % Ehopal | 9T
2 % Indore | 32X

3. % Gualior | TEER

4. % Jabalpur | S&EaqT

Question Number : 72 Question Id : 3354727502 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How many regulated agricultural mandis are there in Madhya Pradesh? | 7e3 udar # Fal a1 g1y Al &=t

Options:
1. % 300-400

2. % 400-500
3. ¥ S00-E00
4. ® 00-700

Question Number : 73 Question Id : 3354727503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is NOT a variety of rice in India? | 9RT # aieET # 7 900 W16 &7 == T51 007 6T 57

Options:

1. * Red Rice | #T& =ITad
2. % Blaclk Rice | AT DT
3. ¥ Elue Rice | F1&T =maa
4. % Brown Rice |\ dde

Question Number : 74 Question Id : 3354727504 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which amorng the following (known as 3Fs) is NOT considered under Panchayat Empowerment &

Accountability Incentive Scherme? | FEETET ¥ 8 forgdr gt o (3F & 910 O W= ied) U=T0d 4k /9o e Soigieed
TICATE AT aza aTia foaw® Ag1 T I By

Options:
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1. ® Funds | =it
2 % Functions | @M=l
3. % Farmers | At

4 % Functionaries | UEITEEal

Question Number : 75 Question Id : 3354727505 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

How many Regional Rural Banks are functioning in India as of March 20167 | 9Ra § 9= 2016 T fFa- g3t
TTHT e T 57

Options:
1. % 25
o % 43
= ¥ 55
4 % g7

Question Number : 76 Question Id : 3354727506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
%1& MNational Development Council (NDC) was founded in _____ | T T aivue (RS T e

Options:
1. % 1947

o ® 1963
3. ¥ 1952
4 # 1954

Question Number : 77 Question Id : 3354727507 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
India’s rank on the 2017 Global Hunger indes 15

Options:
1. % g7outof 119/ 1198797

o ® groutof 121 1 121 T HES
S % g7outof 1231 12579 E7
4 % 100outof 119 11989 100

Question Number : 78 Question Id : 3354727508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is NOT the function of Panchayat in the case of Self Help Groups under Swarnajayanthi

Gram Rozgar Yojana | 9ig & SgradT @y To0i si2d | UH TR AT o SiaTid ST g 91 G=rad o =g | @ @i |
FTe TRl 87

Options:

1. # Identifying Below Poverty Line farmilies | TEIET &7 & i Sla T - aT6 Oiea® ! &1 Tieed @ T

2 % Release the Capital subsidy | GHT /g S #1

% % Release Revolving Funds | TRt =& S #ear

4 ¥ Market the products of the group | 90g % IeATE] FT U0 FAT
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Question Number : 79 Question Id : 3354727509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which authorities conducts elections to Fanchayats in states? | T=df § &1 @7 WTTE@0T G=d HTd Saral 57
Options:

1. % Election Commission of India | 9T &7 Haf=e s

2 ¥ Respective State's Election Comrission | HeTed T & g=1e i

% % Ministry of Panchayati Faj in the state | = &7 W= T T AIT0

4. % District Collector of the respective districts | FeTed el @7 Fearefiar

Question Number : 80 Question Id : 3354727510 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The objective of Mission of Agroforestry is to

Options:

1. % Replace all agriculture lands with forests | g7 FT 2= G 0 G007 A1

2. ¥ Expand the tree coverage on farmland under cultivation | FTY JT G 0T S1TEw gt 7 Eea i wer
3. # Promote cultivation in forest areas | 9= 831 § §1Y ® G547 24T

4. % Find market for forest produces | a9 Iea2 & 507 ST &7 TA74 FEAT

Cormnputer Knowledge

Section Id : 335472237

Section Number : 5

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472237
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354727511 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Abbreviation for 'CC in e-mail application is: | S-Ha Ui § ATH0T 5@ €6l &7 g0 &7 ¢
Options:

1. ® Company Copy | #0101

2 % Common Copy | FIHT ST

3. ¢ Carbon Copy | T @

4 % Casual Copy | Sale ®TUT

Question Number : 82 Question Id : 3354727512 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1. ® Scanner | H&T
2. % Keyboard | a2
= % Printer | Tiex

4. % Mouse | ATI9

Question Number : 83 Question Id : 3354727513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Gantt chart can be easily drawn in: | T T F1 5GH TEHT & =T 1 99647 5

Options:

1. % M5 Word 2007 | TATE 92 2007

2. % M5 PowerPoint 2007 | AU Wlaqamss 2007
3. % M3 Access 2007 | THU UFEE 2007

4 ¥ M5 Excel 2007 | THTH THad 2007

Question Number : 84 Question Id : 3354727514 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
An excel document that are stored as files is called | T A STgHT AT BEa! & ®F § §Uigd 197 8,

Options:
1. ® workforce | Temg
= % worksheet | T

3. ® worktable | gdhdas
4 % workgroup | T

Question Number : 85 Question Id : 3354727515 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What iasﬁt%e shortcut key for underlining a word in MS Word? | UHUE 92 H UF 98 @1 SSTAEd de- & o] ®1 9t

Options:

1. ¥ CTEL+ U
o % CTEL + V¥
3 % CTRL + X
4 % CTRL + ¥

Question Number : 86 Question Id : 3354727516 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

& software which allows user to view the webpage is knowrn as: | oF TFCaay F1 Jo &1 deli=T G@- @1 gl 3aT1 5,
[ELCEECICIES

Options:

1. ¥ Internet Erowser | E2t-¢ A3

2 % Operating Systern | ST Feew

3 % Website | de@Ee

4 % Client | FAEC
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Question Number : 87 Question Id : 3354727517 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A computer cannot 'boot’, if it does not have the ______ | O TR, T el Bl A%dT e, G SAH ________ Tl 2l
Options:

1. ¥ Cormpiler | THUEAT

= ® Loader | A=Y

3. ¥ Cperating Systern | ST Eeen

4 % pssernbler | STHEAT

Question Number : 88 Question Id : 3354727518 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The n_;%igmm nurmber of rows and colurmns in MS Word docurmnent is: | THUH 92 S1PgHe § T8 - 11 it
FTAW B B

Options:

1.¥ land1l 131

o % 2and 121

T ®zandz2 2w

4 % None of the above | SWIFT § & F1E 751

Question Number : 89 Question Id : 3354727519 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which menu in MS Word 2007 can be used to change character size and typeface? | TAIF a2 2007 H Fra i =7
U F et A2 S TEHE @1 age- o [o] Tarm raT 27

Options:
1. % View | 97

2 % Review | Tag
= Home | 517

4 % Insert | 546

Question Number : 90 Question Id : 3354727520 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

is not a part of CPU. | _________ HifTe T g THEr 98 8

Options:
1. ® Storage unit | LR JiHe

2. % ALU [ UUeg
3. ¥ Prograrm unit | TOTH e

4 % Control unit | Fgd T

Question Number : 91 Question Id : 3354727521 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which special character is used to select page range for printing in a docurnent? | U STggHe § T & 67 o &

Options:
1. % Hyphen | BEGA
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2. % Corrria | T
3. % Plus | 479
4 % Colon [ wEAT

Question Number : 92 Question Id : 3354727522 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Wwhich of the foll-::-vﬂng 15 a link to access any itern on ‘j.TOU.I" computer or o a network such as a prograry, file,

folder, etc? | FATARET O € 19 91 U Heaer S U@ FEE, STTe; T 2T AT T UF Tl aeey
qwéﬂaﬂﬁﬁﬁﬁqwﬁfﬁ%?
Options:

1. % Icon | STEdT
2 % Shortcut | STcde

2. ® Link | Hw
4. % Path | URT

Question Number : 93 Question Id : 3354727523 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which terrm is NOT related with font group in MS word 20077 | TATE &2 2007 H F19 97 968, e T0 F Fallad Tg1

Options:

1. % Shrink Font| #@ &1z

2. % Font size | BT q5

3. % Font color | B #et

4. % Font grarmar | Bi-g TTHT

Question Number : 94 Question Id : 3354727524 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Dot rmatrix is type of: [ STe-8Fd 6@ U% T 51T &
Options:

1. ® Floppy disk | wAT Z6q®

2. % File | e

2. ¥ Printer | Tex

4. ® Monitor | BT

Question Number : 95 Question Id : 3354727525 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Unsolicited cornrmercial e-rmails are knowr as: | SHUTET RTHTSA S-Held &1 6 710 & 9 A1 67 3

Options:

1. % Just ermail | &ad 2HA
2 ¥ Spam | 900

3. % Chat | =%

4 % Bulk rrail | Io® A

Question Number : 96 Question Id : 3354727526 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

In M5 Word, you can force a page break by: | THIE o2 H, 310 WHA & ERT UF U s & B B¢ q@d &

Options:

1. ® Positioning your cursor at the appropriate place and pressing the F1 Key | 70+ F#t #1 IRT G99 WX 7@ 3¢
S F1 it o ga &

2. ¥ Positioning your cursor at the appropriate place and pressing Ctrl +enter | &0 %4¢ @1 I U 0 & F
A Ctrl +erter Fit B e B

3. % Using the Insert/Section Break | $9A¢ | HFa= s ®1 SUANT Far
4 % Changing the font size of your docurment | 210 STFIHT FT BT G5 980 B

Question Number : 97 Question Id : 3354727527 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Whin::%?@ne of the following results a computer CANNOT perform? | % FATIE A § & 37 uiony, waidd T8i @
LETIESE

Options:

1. % Input | 50T

2. % Cutput | $ITTEE

= ¥ Thinking | ¥

4. % Processing | W@

Question Number : 98 Question Id : 3354727528 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A high-speed internet connection or wideband transmuission 15 knowr as: | sﬁ“—mﬁ EET g AT TEEes
TR 56 A7 & AT AT 47 5

Options:

1. ® Dial-up Network | STd-27 J2d®

2. % Digital transmission | Eed g
2 ® Wide Area Metwork | FE2 T Joad
4. ¥ Broadband Network | #l2<s Jaah

Question Number : 99 Question Id : 3354727529 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following you can paste selectively using Paste Special cormand in MS Excel? | THUE e H W7
AR FHIS BT JUANT BT §U A0 HEAIeET H & Fd7 g B T 57

Options:

1. # validation only | #Td Jicea=T
2. % Formats only | &ad BTHS

3. % Forrrulas only | & BHAT

4 ¥ all of the above | JURRT THT

Question Number : 100 Question Id : 3354727530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A alphanurmeric cormbination like “J6* in Excel would rmean a: | UFHa H “J6" 8 Tk STgieh (4 @i &1 srf e

Options:
1. % Workbook address | ahg® U249
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2. % worksheet address | F@4dT 129
Z. ¥ Cell address | @ 124
4 % File name | ®IEA & 910
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